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Math 111 Lecture Notes Section 1.5: Function Transformations

Example 9. The point (4, 12) is on the graph of y = f(z). Determine the point on the graph of...

(a) y=fz+2)—1 (4,\?—\ () ny(%z) ('—l-)l'?..\
S\\\p’k ”\*J_rh A - {2, \7—> hor\.@Miﬁrgh\/\ ([)_7 12
shitt down ) (2,11) by >
(b) y=5f(z) (‘J(,[ZD () y=f(-z)—5 C"l',l'?—\
vexbiad e hor\'?;vn\'bq -HP C—'—l,tL}
' \6‘3 S 4 ,!“’03 down S (-—‘—{-) —7->
NSVS v pdhpuid
ba <
(¢) y=—flz—5)+4 (‘-bllb) (£) y=2é(ﬁ+1))—3 . %2‘ (&}’u'%z
verkh cad £ ekl varhiad strefeha by L LM
@\5\(\-\5 - \ & fll) mtn\\d Lomprvra S 173 —,‘;1(( , ii%
2
(A.P “‘ ( C‘) = %3 Dom ,5 (D/Ll_>
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Math 111 Lecture Notes Section 1.5: Function Transformations

Example 10. For the function below, identify the original (or “basic”) function and explain how the

in an appropriate order.

graph is a transformation of the graph of the original function. State all steps to this transformation

= ’L(xﬁ-?b\

(@) g@)=8¢~4& (b)) =—l2w+6]

Onﬂm& flunchow \:%—( OVLGW\LQ qcumf\\w A \

A=Y V;'@C:Q O A=-1 varbdd ¥

\aa R :’l"(’
2 R=-4 Mo Sonid) R=2 Hon%onjrvo'
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() j(=) =35z —1))" +4
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ba S_
® h=1  Snfk rygek |
@ k=4 shPtup 4
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Math 111 Lecture Notes Section 1.5: Function Transformations

Example 11. Let g(z) = —(z — 6)* — 3.

(a) Identify the original (or “basic”) function and explain how the graph of y = g(x) is a trans-
formation of the original function. State all steps to this transformation in an appropriate

order. BO«S(-.(_, Fuﬂcbc\'w . x?_.
®A=-\ ﬂsz uw\:{m\\a
@ h = b RLS\/\JC = '
@ K = —-% Dowon ?)

(b) Compare the graph of y = g(z) to the graph of y = 22 after it has been shifted right 6
units, shifted down 3 units and THEN reflected about the z-axis.

Y= )QZ' F\v\:& AnS win—

IGURE 20 FIGURE 21
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Math 111 Lecture Notes Section 1.5: Function Transformations

Example 12. Let g(z) = $(z+5)%+4. Identify the original function and explain how the graph of
y = g(z) is a transformation of the graph of the original funcf;io§. Then sketch a graph of y = g(z)

in Figure :22. " % ‘?\ A
Beaste FHV\C,DCM-) i \/NFIGURE 2‘}‘3

O vorhica) compression B I
® Lt S
> up

@0

%:\%(X-QK—\/\ B v

Example 13. Let g(z) = I%:c - 3| — 1. Identify the original function and explain how the graph of

y = g(z) is a transformation of the graph of the original function. Then sketch a graph of y = g(z)
in Figure 23.
Rasc Fundons ! *® \ FIGURE 23
© Worizonkd . 40
Shetd by & - N

(@ ek Rig b
@ Down- |
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Math 111 Lecture Notes Section 1.5: Function Transformations

Example 14. Let g(z) = \/—(z + 3) +2. Identify the original function and explain how the graph
of y = g(z) is a transformation of the graph of the original function. Then sketch a graph of

y = g(z) in Figure 24.

OHBWA'Q Fur\.o ‘ R FIGURF 24 :
© &1 Honzenk] BENMNESRRRSNNNE
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Example 15. Let g(x) = —f(2(z 4+ 4)) + 3. The original function y = f(z) is shown in Figure 25.
Explain how the graph of y = g(z) is a transformation of the graph of the original function. Then
sketch a graph of y = g(z) in Figure 25.

A = Fi1GURE 25
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